%

=

"\

+

29026[@] &

Puzzle 1 (Very hard, difficulty rating 0.9

—~ (o)
o o [~
..w © |

< || MDONLO OO =T SO~ <MD T | OJN|LO | © .W,6817n/_3954 m945831627
> S ©
i) o
= o
E o =
- o
£ S o

[(o] o] RSy |l [@)] ITo] Rl [e0] KaN] | =] (spl[e2][ee] [aN] [To) kol [Co] ol RS |M.458231679 Vy.574n/_19386
el @ 73
(] ) ©

[ep] [aN] iTe] (o] (e o]k uul [1ud RS @) /M\421837965 N512697483 @\457183962-
N ™ <

[l RS gl KCe] [To] [aN] Kep] (0] Rl Ko o] OO M| OO0~ ) 321 Liead K©2] RS i (Yol [e o) Ruud (o) KaN] | VN[OV T OO~ || T
N N N




